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Notes

The total sum of squares, the explained sum of squares and the residual sum of squares
are defined respectively as follows:

SStot ,
∑
i∈I

(yi − ȳ)2 (1)

SSreg ,
∑
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(fi − ȳ)2 (2)

SSerr ,
∑
i∈I

(fi − yi)
2 (3)

It follows from the triangle inequality that:

SStot ≤ SSreg + SSerr (4)

Now R squared is defined as follows:

R2 , 1 − SSerr

SStot
=

SStot − SSerr

SStot
(5)

So by means of (4), one has that:

R2 ≥ SStot − (SStot − SSreg)

SStot
=

SSreg

SStot
≥ 0 (6)
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